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View	synonyms	for	subtractto	calculate	the	difference	between	(two	numbers	or	quantities)	by	subtractionto	remove	(a	part	of	a	thing,	quantity,	etc)	from	the	whole“Collins	English	Dictionary	—	Complete	&	Unabridged”	2012	Digital	Edition	©	William	Collins	Sons	&	Co.	Ltd.	1979,	1986	©	HarperCollins	Publishers	1998,	2000,	2003,	2005,	2006,
2007,	2009,	2012subtracter	noununsubtracted	adjectivesubˈtracter	nounOrigin	of	subtract1First	recorded	in	1530–40;	from	Latin	subtractus	(past	participle	of	subtrahere	“to	draw	away	from	underneath”),	equivalent	to	sub-	sub-	+	trac-	(past	participle	stem	of	trahere	“to	draw”)	+	-tus	past	participle	suffixOrigin	of	subtract1C16:	from	Latin
subtractus	withdrawn,	from	subtrahere	to	draw	away	from	beneath,	from	sub-	+	trahere	to	drawSubtract,	deduct	express	diminution	in	sum	or	quantity.	To	subtract	suggests	taking	a	part	from	a	whole	or	a	smaller	from	a	larger:	to	subtract	the	tax	from	one's	salary.	To	deduct	is	to	take	away	an	amount	or	quantity	from	an	aggregate	or	total	so	as	to
lessen	or	lower	it:	to	deduct	a	discount.	Subtract	is	both	transitive	and	intransitive,	and	has	general	or	figurative	uses;	deduct	is	always	transitive	and	usually	concrete	and	practical	in	application.Examples	have	not	been	reviewed.Things	have	changed	in	the	half-century	since	“Forever…”	was	published,	even	subtracting	the	years	the	series
backtracks.For	simplicity	sake,	we’re	going	to	use	Louisville	time,	so	those	in	Los	Angeles	can	subtract	three	hours.Your	capital	gain	will	be	calculated	by	subtracting	your	tax	basis	in	the	home	from	the	sales	proceeds,	minus	selling	costs.“The	Accountant	2”	subtracts	everything	that	worked	about	the	2016	original,	a	marvelous	romp	that	starred	Ben
Affleck	as	Christian	Wolff,	a	neurodivergent	numbers	geek	who	freelances	as	an	auditor	and	assassin.If	both	parents	work,	and	if	they	subtract	costs	for	housing,	food,	child	care,	health	care	and	transportation,	the	amount	left	over	each	month	would	be	$530.What	does	subtract	mean?Subtract	means	to	take	something	away,	usually	as	in	taking	a
piece	out	of	a	whole.In	math,	subtract	means	to	perform	subtraction,	the	operation	in	which	you	find	difference	between	two	numbers	or	quantities.You	can	subtract	one	thing	from	another,	as	in	We	need	to	subtract	the	cost	of	labor	from	our	total	profits.You	can	also	subtract	something	without	mentioning	what	you’re	subtracting	it	from,	as	in	If	you
subtract	the	busy	traffic,	my	day	wasn’t	that	bad.	In	other	words,	when	you	consider	everything	in	my	day,	except	for	the	traffic	it	wasn’t	a	bad	day.For	the	most	part,	subtract	usually	refers	to	taking	a	small	piece	away	from	a	bigger	whole.	However,	subtracting	can	potentially	result	in	negative	amounts	or	debts	when	you’re	subtracting
numbers.When	you	first	learned	subtraction,	your	teacher	might	have	said	that	when	we	subtract,	we	are	“taking	away”	one	number	from	another.	For	example,	if	you	subtract	3	from	5,	you	take	away	3	from	5,	which	leaves	you	with	2.Example:	I	need	to	remember	to	subtract	my	electric	bill	from	my	monthly	budget.
subtotalsubtractionBrowse#aabbccddeeffgghhiijjkkllmmnnooppqqrrssttuuvvwwxxyyzzAboutCareersContact	usCookies,	terms,	&	privacyHelpFollow	usGet	the	Word	of	the	Day	every	day!©	2025	Dictionary.com,	LLC	Subtraction	is	...	...	taking	one	number	away	from	another.			Start	with	5	apples,	then	subtract	2,	we	are	left	with	3	apples.	This	can	be
written:	5	−	2	=	3	Try	It	Yourself	images/subtract.js	You	get	good	at	subtraction	with	practice...	...	so	use	Math	Trainer	-	Subtraction	to	train	yourself!	Subtraction	Table	You	can	also	find	answers	for	simple	subtraction	using	this	table:	0	0	1	1	0	2	2	1	0	3	3	2	1	0	4	4	3	2	1	0	5	5	4	3	2	1	0	6	6	5	4	3	2	1	0	7	7	6	5	4	3	2	1	0	8	8	7	6	5	4	3	2	1	0	9	9	8	7	6	5	4	3	2
1	0	10	10	9	8	7	6	5	4	3	2	1	0	11	11	10	9	8	7	6	5	4	3	2	1	0	12	12	11	10	9	8	7	6	5	4	3	2	1	0	0	1	2	3	4	5	6	7	8	9	10	11	12	Example:	Find	8	−	5	find	the	row	starting	with	"8"	move	along	till	you	are	in	column	"5"	and	there	is	the	number	"3",	so	8	−	5	=	3	Other	names	used	in	subtraction	are	Minus,	Less,	Difference,	Decrease,	Take	Away,	Deduct.	The	names
of	the	numbers	in	a	subtraction	fact	are:	Minuend	−	Subtrahend	=	Difference	Minuend:	The	number	that	is	to	be	subtracted	from.	Subtrahend:	The	number	that	is	to	be	subtracted.	Difference:	The	result	of	subtracting	one	number	from	another.	Subtracting	Larger	Numbers	To	subtract	numbers	with	more	than	one	digit	(such	as	"42−25")	use	any	of
these	methods,	choose	the	one	you	prefer:	Worksheets	For	practice	try	these	Subtraction	Worksheets	1592,	1593,	3408,	3409,	6619,	6620,	6621,	6622,	6623,	6624,	6625,	6626,	6627,	6628	Copyright	©	2025	Rod	Pierce	Definition	of	subtract	verb	from	the	Oxford	Advanced	Learner's	Dictionary	1	Write	down	the	larger	number.	Let's	say	you're	working
with	the	problem	32	-	17.	Write	down	32	first.	2	Write	the	smaller	number	directly	below	it.	Make	sure	that	you	line	up	the	tens	and	ones	columns,	so	that	the	3	in	"32"	is	directly	above	the	1	in	"17"	and	that	the	2	in	"32"	is	directly	above	the	"7"	in	17.[1]	Advertisement	3	Subtract	the	number	in	the	ones	column	of	the	bottom	number	from	the	number
in	the	ones	column	of	the	top	number.	Now,	this	can	get	a	little	bit	tricky	when	the	bottom	number	is	larger	than	the	top	number.	In	this	case,	7	is	larger	than	2.	Here's	what	you	need	to	do:[2]	You'll	need	to	"borrow"	from	the	3	in	"32"	(also	known	as	regrouping),	in	order	to	turn	that	2	into	a	12.	Cross	off	the	3	in	"32"	and	make	it	a	2,	while	making
the	2	a	12.	Now,	you	have	12	-	7,	which	is	equal	to	5.	Write	a	5	below	the	two	numbers	you	subtracted,	so	it	lines	up	with	the	ones	column	in	a	new	row.	4	Subtract	the	number	in	the	tens	column	of	the	bottom	number	from	the	number	in	the	tens	column	of	the	top	number.[3]	Remember	that	your	3	is	now	a	2.	Now,	subtract	the	1	in	17	from	the	2
above	it	to	get	(2-1)	1.	Write	1	below	the	numbers	in	the	tens	columns,	to	the	left	of	the	5	in	the	ones	column	of	the	answer.	You	should	have	written	15.	This	means	that	32	-	17	=	15.	5	Check	your	work.	If	you	want	to	be	sure	that	you	correctly	subtracted	the	two	numbers,	then	all	you	have	to	do	is	to	add	the	answer	to	the	smaller	number	to	make
sure	that	you	get	the	larger	number.	In	this	case,	you	should	add	your	answer,	15,	to	the	smaller	number	in	the	subtraction	number,	17.	15	+	17	=	32,	so	you've	done	your	work	correctly.	Well	done!	Advertisement	1	Identify	which	number	is	larger.	A	problem	such	as	15	-	9	will	need	a	different	visualization	technique	than	a	problem	like	2	-	30.[4]	In
the	problem	15	-	9,	the	first	number,	15,	is	larger	than	the	second,	9.	In	the	problem	2	-	30,	the	second	number,	30,	is	larger	than	the	first,	2.	2	Decide	whether	your	answer	will	be	positive	or	negative.	If	the	first	number	is	larger,	the	answer	is	positive.	If	the	second	number	is	larger,	the	answer	will	be	negative.	In	the	first	problem,	15	-	9,	your
answer	will	be	positive	because	the	first	number	is	larger	than	the	second.	In	the	second	problem,	2	-	30,	your	answer	will	be	negative	because	the	second	number	is	larger	than	the	first.	3	Find	the	gap	between	the	two	numbers.	In	order	to	subtract	the	two	numbers,	you'll	have	to	visualize	the	gap	between	the	two	numbers	and	count	the	numbers	in
between.[5]	For	the	problem	15	-	9,	visualize	a	pile	of	15	poker	chips.	Remove	9	of	them	and	you'll	see	that	6	of	them	remain.	Therefore,	15	-	9	=	6.	You	can	also	think	of	a	number	line.	Think	of	the	numbers	from	1	to	15	and	then	remove	or	go	back	9	units	to	get	6.	For	the	problem	2	-	30,	the	easiest	thing	to	do	is	to	reverse	the	numbers	and	then	make
the	answer	negative	after	you've	subtracted	them.	So,	30	-	2	=	28,	since	28	is	just	two	less	than	30.	Now,	make	your	answer	negative	since	you	determined	at	the	beginning	that	it	would	be	negative	because	the	second	number	is	larger	than	the	first.	Therefore,	2	-	30	=	-28.	Advertisement	1	Write	the	larger	number	over	the	smaller	number	with	the
decimals	lined	up.[6]	Let's	say	you're	working	with	the	following	problem:	10.5	-	8.3.	Write	10.5	above	8.3	so	that	the	decimal	points	of	both	numbers	are	lined	up.	The	.5	in	10.5	should	be	over	the	.3	in	8.3,	and	the	0	in	10.5	should	be	over	the	8	in	8.3.	If	you	have	a	problem	where	both	numbers	don't	have	the	same	amount	of	numbers	after	the
decimal	point,	write	a	0	in	the	empty	spaces	until	they	even	out.	For	example,	if	you	have	the	problem	5.32	-	4.2,	you	can	rewrite	it	as	5.32	-	4.20.	This	won't	change	the	value	of	the	second	number	while	making	it	possible	to	subtract	both	numbers	more	easily.	2	Subtract	the	number	in	the	tenths	column	of	the	bottom	number	from	the	number	in	the
tenths	column	of	the	top	number.	You	should	follow	the	same	process	you'd	follow	when	subtracting	regular	whole	numbers,	except	that	you	need	to	remember	to	line	up	the	decimals	of	both	numbers	and	to	keep	the	decimal	in	your	answer.	In	this	case,	you	need	to	subtract	3	from	5.	5	-	3	=	2,	so	you	should	write	a	2	below	the	3	in	8.3.[7]	Make	sure
to	carry	that	decimal	point	down	to	the	answer.	It	should	read	.2	so	far.	3	Subtract	the	number	in	the	ones	column	of	the	bottom	number	from	the	number	in	the	ones	column	of	the	top	number.	Now,	you'll	need	to	subtract	8	from	0.	Borrow	from	the	1	next	to	the	0	to	make	it	a	10,	and	subtract	8	from	10	(10	-	8)	to	get	2.	You	can	also	just	think	of	it	as
subtracting	8	from	10	without	borrowing	since	there's	no	number	in	the	tens	column	of	the	second	number.	Write	the	answer	down	below	the	8,	to	the	left	of	the	decimal	point.[8]	4	State	your	final	answer.	Your	final	answer	is	2.2.	5	Check	your	work.	If	you	want	to	make	sure	you	subtracted	decimals	correctly,	then	all	you	have	to	do	is	to	add	your
answer	and	the	smaller	number	to	make	sure	that	you	get	the	larger	number.	2.2	+	8.3	=	10.5	so	you're	all	done.	Advertisement	1	Line	up	the	denominators	and	the	numerators	of	the	fractions.	Let's	say	you're	working	with	the	problem	13/10	-	3/5.	Write	down	the	problem	so	that	both	numerators,	13	and	3,	and	both	denominators,	10	and	5,	are
directly	across	from	each	other.	The	two	numbers	will	be	separated	by	a	subtraction	sign.	This	will	help	you	visualize	the	problem	and	reach	a	solution	more	easily.[9]	2	Find	the	lowest	common	denominator.	The	lowest	common	denominator	is	the	smallest	number	that	is	evenly	divisible	by	both	numbers.	In	this	example,	you'll	need	to	find	the	lowest
common	denominator	of	the	numbers	10	and	5.	You	can	see	that	10	is	the	lowest	common	denominator	of	both	numbers,	because	10	is	evenly	divisible	by	both	10	and	5.[10]	Note	that	the	lowest	common	denominator	of	two	numbers	isn't	always	one	of	the	numbers.	For	example,	the	lowest	common	denominator	of	the	numbers	3	and	2	is	6,	because
that's	the	smallest	number	that	is	evenly	divisible	by	both	numbers.	3	Rewrite	the	fractions	with	the	same	denominators.	The	fraction	13/10	can	be	written	the	same	way,	since	the	denominator,	10,	goes	into	the	lowest	common	denominator,	10,	exactly	1	time.	However,	the	fraction	3/5	needs	to	be	rewritten	because	the	denominator,	5,	goes	into	the
lowest	common	denominator,	10,	2	times.	So,	the	fraction	3/5	needs	to	be	multiplied	by	2/2	in	order	to	have	10	in	the	denominator.	therefore,	3/5	x	2/2	=	6/10.	You've	created	an	equivalent	fraction.	3/5	is	equal	to	6/10,	though	6/10	allows	you	to	subtract	the	number	from	the	first	number,	13/10.[11]	Write	the	new	problem	like	this:	13/10	-	6/10.	4
Subtract	the	numerators	of	both	fractions.	Simply	subtract	13	-	6	to	get	7.	You	should	not	change	the	denominators	of	the	fractions.	5	Write	the	new	numerator	over	the	same	denominator	to	get	your	final	answer.[12]	Your	new	numerator	is	7.	Both	fractions	have	the	denominator	10.	Your	final	answer	is	therefore	7/10.	6	Check	your	work.	If	you	want
to	make	sure	that	you	subtracted	the	fractions	correctly,	just	add	up	your	answer	and	the	smaller	fraction	to	make	sure	that	your	answer	is	the	larger	fraction.	So,	7/10	+	6/10	=	13/10.	You're	all	done.	Advertisement	1	Write	down	the	problem.	Let's	say	you're	working	with	the	following	problem:	5	-	3/4.	Write	it	down.[13]	2	Turn	the	whole	number
into	a	fraction	with	the	same	denominator	as	the	fraction.	You'll	want	to	convert	the	number	5	into	a	fraction	with	the	denominator	of	4	in	order	to	subtract	the	two	numbers.	So,	you	can	first	think	of	5	as	a	fraction	that	is	really	5/1.	Then,	you	can	multiply	both	the	top	and	bottom	of	the	new	fraction	by	4	in	order	to	create	two	fractions	with	the	same
denominator.	So,	5/1	x	4/4	=	20/4.	This	fraction	is	really	equal	to	5,	but	it	allows	you	to	subtract	two	fractions.[14]	3	Rewrite	the	problem.	The	new	problem	can	be	written	like	this:	20/4	-	3/4.[15]	4	Subtract	the	numerators	of	the	fractions	while	keeping	the	denominator	the	same.	Now,	you	can	simply	subtract	3	from	20	to	get	the	final	answer.	20	-	3
=	17,	so	17	is	your	new	numerator.	You	can	keep	the	denominator	as	it	is.[16]	5	Write	your	final	answer.	Your	final	answer	is	17/4.	If	you'd	like	to	state	it	as	a	mixed	number,	simply	divide	17	by	4	to	get	4,	with	1	left	over	as	the	remainder.	This	will	make	your	final	answer	17/4	equal	to	4	1/4.	Advertisement	1	Write	down	the	problem.	Let's	say	you're
working	with	the	following	problem:	3x2	-	5x	+	2y	-	z	-	(2x2	+	2x	+	y).	Write	the	first	set	of	terms	above	the	second.[17]	2	Subtract	like	terms.	When	you're	working	with	variables,	you	can	only	add	or	subtract	terms	that	have	the	same	variable	and	which	are	written	to	the	same	degree.[18]	This	means	that	you	can	subtract	4x2	from	7x2,	for	example,
but	not	4x	from	4y.	This	means	that	you	can	break	the	problem	down	like	this:	3x2	-	2x2	=	x2	-5x	-	2x	=	-7x	2y	-	y	=	y	-z	-	0	=	-z	3	State	your	final	answer.	Now	that	you've	subtracted	all	of	the	like	terms	you	can	subtract,	all	you	can	do	is	state	your	final	answer,	which	will	contain	each	of	the	terms	that	you	subtracted.	Here's	the	final	answer:	3x2	-	5x
+	2y	-	z	-	(2x2	+	2x	+	y)	=	x2	-	7x	+	y	-	z	Advertisement	Add	New	Question	Question	What	about	subtracting	larger	numbers	from	smaller	numbers?	For	example,	1.2	-	4.7.	Is	there	an	easy	way	to	do	this,	going	into	negatives?	You	subtract	the	smaller	number	from	the	larger	number	and	put	a	negative	sign	in	front	of	the	answer.	Question	How	do	I
subtract	3-digit	numbers?	Do	it	the	way	it's	shown	above	with	two-digit	numbers,	but	continue	the	same	process	into	the	hundreds	column.	Question	How	do	I	borrow	when	the	top	number	is	a	0?	When	the	top	number	is	a	0,	you	go	to	the	next	number	to	the	left,	borrow	1	from	that	number,	and	turn	the	0	into	a	10.	See	more	answers	Ask	a	Question
Advertisement	Thanks	Advertisement	Thanks	Advertisement	This	article	was	co-authored	by	David	Jia.	David	Jia	is	an	Academic	Tutor	and	the	Founder	of	LA	Math	Tutoring,	a	private	tutoring	company	based	in	Los	Angeles,	California.	With	over	10	years	of	teaching	experience,	David	works	with	students	of	all	ages	and	grades	in	various	subjects,	as
well	as	college	admissions	counseling	and	test	preparation	for	the	SAT,	ACT,	ISEE,	and	more.	After	attaining	a	perfect	800	math	score	and	a	690	English	score	on	the	SAT,	David	was	awarded	the	Dickinson	Scholarship	from	the	University	of	Miami,	where	he	graduated	with	a	Bachelor’s	degree	in	Business	Administration.	Additionally,	David	has
worked	as	an	instructor	for	online	videos	for	textbook	companies	such	as	Larson	Texts,	Big	Ideas	Learning,	and	Big	Ideas	Math.	This	article	has	been	viewed	582,224	times.	Co-authors:	40	Updated:	October	19,	2024	Views:	582,224	Categories:	Addition	and	Subtraction	Print	Send	fan	mail	to	authors	Thanks	to	all	authors	for	creating	a	page	that	has
been	read	582,224	times.	"I	am	studying	for	the	SATs.	I	forgot	basic	subtraction.	I	think	I	need	to	take	a	break	from	studying	and	like,	get	some	sleep.	Thanks	though,	this	made	me	remember	how	subtraction	works."..."	more	Share	your	story	Suppose	we	purchase	ice	cream	for	a	certain	amount	of	money,	say	$\$140$,	and	we	give	$\$200$	to	the
cashier.	Now,	the	cashier	returns	the	excess	amount	by	performing	subtraction	such	as	$200	−	140	=	60$.	Then,	the	cashier	will	return	$\$60$.	What	is	exactly	happening	here?	The	answer	to	this	question	is	subtraction.	Subtraction	is	one	of	the	four	basic	arithmetic	operations	in	mathematics.	The	other	three	being	addition,	multiplication,	and
division.	We	can	observe	the	applications	of	subtraction	in	our	day-to-day	life	in	different	situations.		For	example,	if	we	have	3	candies	and	our	friend	asks	us	for	1	candy,	how	many	candies	are	we	left	with?	Simply,		$3	−	1	=	2$	Let’s	understand	the	concept	with	the	help	of	the	following	example	of	apples.	In	the	example	above,	if	Harry	has	6	apples
and	he	gives	3	apples	to	Jim,	How	many	apples	are	left	with	him?	We	can	calculate	this	by	subtracting	3	from	6:	$6	−	3	=	3$	Harry	is	left	with	3	apples.		More	Worksheets	The	operation	or	process	of	finding	the	difference	between	two	numbers	or	quantities	is	known	as	subtraction.	To	subtract	a	number	from	another	number	is	also	referred	to	as
‘taking	away	one	number	from	another’.	Some	instances	where	we	use	subtraction	are	while	making	payments,	transferring	money	to	our	friends	and	many	more.	In	mathematics,	we	have	generally	used	different	symbols	for	different	operators.	We	have	symbols	like	$+,	−,	/,	*$	and	many	more.	The	subtraction	symbol	$“−”$	is	one	of	the	most
important	math	symbols	that	we	use.	In	the	above	section,	we	read	about	subtracting	two	numbers	6	and	3.	If	we	observe	this	expression:	$(6	−	3	=	3)$,	the	symbol	$(−)$	between	the	two	numbers	is	what	denotes	subtraction.	This	symbol	is	also	known	as	the	minus	$(−)$	sign.	When	we	subtract	two	numbers,	we	commonly	use	some	terms	that	are
used	in	a	subtraction	expression:	Minuend:	A	minuend	is	the	number	from	which	the	other	number	is	subtracted.	Subtrahend:	A	subtrahend	is	the	number	which	is	to	be	subtracted	from	the	minuend.	Difference:	A	difference	is	the	final	result	after	subtracting	the	subtrahend	from	the	minuend.	The	subtraction	formula	is	written	as	Minuend	$−$
Subtrahend	$=$	Difference	For	example,		$7	−	3	=	4$	Here,		$7	=$	Minuend	$3	=$	Subtrahend	$4	=$	Difference	Minus	is	a	sign	or	a	symbol	that	is	represented	by	a	horizontal	line.		We	use	minus	in	mathematics	for	multiple	representations.	Minus	represents	the	arithmetic	operation	of	subtraction	between	two	numbers.	We	use	minus	sign	to	denote
subtract,	decreased	by,	take	away,	etc.		For	example,			Minus	sign	also	means	how	much	is	one	value	more	than	the	other	value.			For	example,	Darby	has	8	gingerbread	with	her	and	Olive	has	3	gingerbreads.		Darby	has	more	gingerbreads	by	$(8	−	3)	=	5$	Integers	are	the	numbers	that	are	not	in	decimal	or	fractional	form	and	include	positive	and
negative	numbers	along	with	0.	We	use	the	minus	sign	to	represent	the	negative	integers,	i.e.,	the	whole	numbers	which	are	less	than	zero	(no	fractions).	For	representing	a	negative	integer,	we	add	a	negative	or	minus	sign	in	front	of	a	whole	number.	For	example,	negative	integer	5	is	represented	as:	$(−	5)$	We	also	use	the	minus	sign	in
measurement	specially	in	temperature.			For	example,	a	temperature	of		$−	4^{\circ}	\text{C}$	means	4	degrees	below	zero.	Another	example:	The	temperature	is	$5^{\circ}	\text{C}$	and	then	drops	$−	10^{\circ}	\text{C}$.	What	is	the	temperature	now?		The	temperature	now	$=	5	−	10	=	−	5^{\circ}	\text{C}$	We	also	use	the	minus	sign	to
represent	a	negative	direction	on	a	graph	paper	to	show	the	coordinates.		The	graph	also	runs	in	the	negative	direction.		In	the	first	quadrant,	the	coordinates	are	of	the	form	$(x,y)$.		In	the	second	quadrant,	the	coordinates	are	of	the	form	$(−x,y)$.		In	the	third	quadrant,	the	coordinates	are	of	the	form	$(−x,−y)$.	In	the	fourth	quadrant,	the
coordinates	are	of	the	form	$(x,−y)$.		Multiplication	of	two	negative	numbers	gives	a	positive	number.	Negative	$\times$	Negative		$=$	Positive	For	example,	$(−	5)	\times	(−	15)	=	+	75$	Multiplication	of	a	negative	number	and	a	positive	number	gives	a	negative	number.	Negative	$\times$	Positive		$=$	Negative	For	example,	$(−	5)	\times	(15)	=	−
75$	Addition	of	a	negative	number	with	a	negative	number	will	always	give	a	negative	number.	Negative	$+$	Negative	$=$	Negative	For	example,	$(−	3)	+	(−	4)	=	(−	7)$	Subtracting	a	positive	number	from	a	negative	number	will	always	give	a	negative	number.	If	we	subtract	a	positive	number	from	a	negative	number,	we	start	at	the	negative
number	and	count	backwards.		Negative	$−$	Positive	$=$	Negative	Using	the	number	line,	let’s	start	at	$−	3$.	For	example:	Say,	we	have	the	problem	$(−	2)	−	3$.		Now	count	backwards	3	units.	So,	keep	counting	back	three	spaces	from	$−	2$	on	the	number	line,	we	get	The	answer	is	$(−	2)	−	3	=	−	5$.	Subtracting	a	negative	number	from	a
negative	number	A	negative	sign	followed	by	a	negative	sign,	turns	the	two	signs	into	a	positive	sign.	So,	instead	of	subtracting	a	negative,	you	are	adding	a	positive.	The	answer	could	be	either	positive	or	negative,	depending	on	the	magnitude	of	the	numbers.		Negative	$−$	Negative	$=$	Negative	$+$	Positive	Basically,	$−	(−	5)$	becomes	$+	5$,
and	then	you	add	the	numbers.	For	example,	we	have	$(−	2)	−	(−	5)$.	We	can	read	it	as	“negative	two	minus	negative	5”.	We’re	changing	the	two	negative	signs	into	a	positive,	so	the	equation	now	becomes	$(−	2)	+	5$.	On	the	number	line,	it	starts	at	$−	2$.	Then	we	move	forward	5	units:	$+	5$.	The	answer	is	$−	2	−	(−	5)	=	3$.	Subtracting	a
negative	number	from	a	positive	number	will	always	give	a	positive	number.	When	we	subtract	a	negative	number	from	a	positive	number,	we	turn	the	subtraction	sign	followed	by	a	negative	sign	into	a	plus	sign.	So,	instead	of	subtracting	a	negative,	you’re	adding	a	positive.	So	the	equation	turns	into	a	simple	addition	problem.	Positive	–	Negative	=
Positive	+	Positive	For	example,	let’s	say	we	have	the	problem	$2	−	(−	4)$.	This	reads	“two	minus	negative	four.”	The	$−	(−	4)$	turns	into	$+	4$.	On	the	number	line	we	start	at	2.	Then	we	move	forward	three	units:	$2	+	4$.	The	answer	is	$2	−	(−	4)	=	6$.	There	are	various	methods	for	subtraction.	In	this	article,	we	shall	be	discussing	three	of	them.
One	of	the	methods	is	to	use	a	diagram	showing	what	you	start	with,	what	you	are	taking	away,	and	what	you	are	left	with.	For	example,	we	have	5	balls,	now	a	friend	asks	for	2	balls,	we	can	easily	calculate	that	we	are	left	with	2	balls	using	the	concept	of	subtraction	by	depicting	it	through	a	diagram	as	given	below:		Another	method	to	perform
subtraction	is	by	using	a	number	line.	If	we	want	to	calculate	5	minus	2,	we	start	from	5.	Since	we	need	to	subtract	2,		we	take	2	steps	back.	Finally	we	observe	that	we	are	standing	at	3.		So,	this	is	how	$5	−	2$	is	calculated	on	the	number	line.		This	is	a	number	line	representation	of	the	expression.	The	generally	used	method	is	the	column	method	of
subtraction,	where	we	separate	the	numbers	into	ones,	tens,	hundreds	and	so	on	and	write	the	minuend	above	the	subtrahend,	where	all	the	ones	are	in	one	column,	all	the	tens	are	in	another	column	and	so	on.	In	this	method,	we	always	start	the	subtraction	with	the	ones	and	proceed	from	right	to	left.		Regrouping	in	math	can	be	defined	as	the
process	of	making/breaking	groups	when	carrying	out	operations	like	addition	and	subtraction.	To	regroup	means	to	rearrange	groups	in	place	value	to	carry	out	an	operation.	We	use	regrouping	in	subtraction,	when	digits	in	the	minuend	are	smaller	than	the	digits	in	the	same	place	of	the	subtrahend.	This	process	is	called	regrouping	as	we	are
regrouping	numbers	or	rearranging	them	into	their	place	value	to	carry	out	this	process.	When	we	use	regrouping	in	subtraction,	it	is	also	sometimes	called	borrowing.	In	subtraction,	we	sometimes	use	the	concept	of	regrouping	between	numbers.	When	the	numbers	are	subtracted	using	the	column	method	and	the	bottom	digit	is	greater	than	the
upper	digit,	we	regroup	the	numbers	to	be	able	to	subtract.	Let	us	understand	subtraction	using	this	regrouping	example,	which	includes	finding	the	answer	to	the	expression	$31	−	19$.	Here,	we	first	subtract	the	unit	place	digit	of	the	number	in	the	lower	slot	with	the	upper	slot.	If	the	number	in	the	lower	slot	is	larger	than	the	number	in	the	upper
slot,	regrouping	takes	place,	also	called	borrowing.	In	this	case,	we	subtract	one	from	the	tens	place	digit	from	the	upper	slot	number	and	write	the	remaining	number	above	it,	that	is,	we	take	1	from	3	making	it	2	which	we	wrote	above	3,	while	this	1	that	we	subtracted	is	“borrowed”	to	the	unit	place,	making	it	a	10	and	adding	it	to	the	unit	place
existing	number,	giving	us	a	two	digit	number.	In	simpler	words	10	is	borrowed	from	the	tens	place	digit	and	added	to	the	unit	place	digit.	In	the	above	example,	10	is	added	to	the	unit	place	digit	i.e.	1	and	we	write	11	above	the	unit	place	digit.		Now,	we	move	on	to	the	real	subtraction	of	the	two	numbers.	The	number	of	the	unit	place	of	the	upper
slot	can	now	be	subtracted	from	the	unit	place	number	of	the	lower	slot,	i.e.	$11	−	9$	giving	us	2.	While	we	normally	take	the	remaining	number	from	the	upper	slot	i.e.	2	and	subtract	the	lower	slot	number	from	it,	i.e.,	$2	−	1$,	giving	us	1,	which	leaves	us	with	12	as	the	final	answer.	Here’s	how	we	regroup	hundred	and	tens	to	subtract	182	from
427:	Here	are	a	few	important	properties	of	subtraction	in	our	everyday	life.	Commutative	property	of	subtraction:	Commutative	property	states	that	swapping	of	numbers	does	not	alter	the	result.	But	in	subtraction,	we	cannot	get	the	same	output	when	we	put	minuend	in	place	of	subtrahend	and	vice	versa.	Hence,	commutative	property	is	not
possible	in	case	of	subtraction.	For	example,	$8	−	5$	is	not	equal	to	$5	−	8$.	Identity	property	of	subtraction:	Identity	property	states	that	when	we	subtract	“0”	from	a	number,	the	resultant	is	the	number	itself.	For	example,	$5	−	0	=	5$.	Inverse	Property	of	Subtraction	(Subtracting	a	number	by	itself):	When	we	subtract	a	number	from	itself,	the
resultant	is	always	“0.”	$\text{A}	−	\text{A}	=	0$	For	example,	$9	−	9	=	0$.	Subtraction	Property	of	Equality	According	to	the	property,	if	we	subtract	any	number	on	both	sides	of	an	equation,	the	equality	of	the	equation	still	holds.	For	the	given	algebra	equation;	$\Rightarrow	\times	−	3	=	5$	If	we	subtract	the	same	number	on	both	sides,	the
equation	will	still	hold	true.	Here	we	will	subtract	8	from	both	sides.		$\Rightarrow	\times	−	3	−	8	=	5	−	8$	$\Rightarrow	\times	−	11	=	−	3$	Distributive	Property	of	Subtraction	According	to	the	property,	the	multiplication	of	subtraction	of	numbers	is	equal	to	subtraction	of	the	multiplication	of	individual	numbers.	$\text{A}	\times	(\text{B}	−
\text{C})	=	\text{A}	\times	\text{B}	−	\text{A}	\times	\text{C}$	For	example:	$3	\times	(5	−	2)	=	3	\times	3	=	9$	and	$3	\times	5	−	3	\times	2	=	15	−	6	=	9$	In	this	article,	we	have	learned	about	subtraction,	its	definition	with	example,	the	symbols	used	for	it,	the	common	methods	used	for	subtraction.	We	also	learned	about	the	minus	sign.	The
minus	sign	is	used	for	different	purposes.	Let’s	practice	our	understanding	with	a	few	solved	examples	and	practice	problems	and	solved	examples.	1.	In	a	soccer	match,	Team	A	scored	5	goals	and	Team	B	scored	9	goals.	Which	team	scored	more	goals	and	by	how	much?	Solution:	Goals	scored	by	Team	$\text{A}		=	5$;		Goals	scored	by	Team
$\text{B}	=	9$	We	can	clearly	see	that	Team	B	scored	more	goals.	To	calculate	the	numbers	of	goals	by	which	Team	B	exceeded,	we	will	subtract	5	from	9.		$9	−	5	=	4$	Therefore,	Team	B	scored	4	more	goals	than	Team	A.	2.	Jeff	has	120	pens.	Her	friend	Tim	has	50	pens	less	than	Jeff.	How	many	pens	does	Tim	have?	Solution:	As	we	know,	the	term
“less	than”	refers	to	the	operation	subtraction.	Given,	Jeff	$=	120$	Tim	$=	120	−	50	=	70$	Therefore,	Tim	has	70	pens.	3.	During	an	annual	Easter	egg	hunt,	the	participants	found	52	eggs	in	the	clubhouse,	out	of	which	14	Easter	eggs	were	broken.	Can	you	find	out	the	exact	number	of	unbroken	eggs?	Solution:	The	number	of	easter	eggs	found	in
the	Clubhouse	$=	52$;	Number	of	easter	eggs	that	were	broken	$=	14$;	The	total	number	of	unbroken	eggs	$=$	?	Now,	we	will	subtract	the	number	of	broken	eggs	from	the	total	number	of	eggs.	Therefore,	the	number	of	unbroken	eggs	is	38.	4.	Jerry	collected	194	fishes	and	Evan	collected	132	fishes.	Who	collected	more	fish	and	by	how	much?
Solution:	Number	of	fishes	collected	by	Jerry	$=	194$;		Number	of	fishes	collected	by	Evan	$=	132$	This	shows	that	Jerry	collected	more	fish.	Let	us	subtract	$194	−	132$	to	get	the	difference.	Therefore,	Jerry	collected	62	fish	more	than	Evan.	5.	By	how	much	is	5251	less	than	6556?	Solution:	From	the	given,	it	is	clear	that	6556	is	greater	than	5251
.	Now	subtract	5251	from	6556.	$6556	−	5251	=	1305$	Therefore,	5251	is	less	than	6556	by	1305.	6.	What	is	the	value	of	794	minus	658?	Solution:	$794	−	658	=	136$	7.	When	Steve	woke	up,	his	temperature	was	$101^{\circ}	\text{F}$.	Two	hours	later,	it	was	3º	lower.	What	was	his	temperature	after	two	hours?	Solution:	Temperature	at	the	time
of	Steve	waking	up	$=	101^{\circ}	\text{F}$	Temperature	after	2	hours	$=	101^{\circ}	\text{F}	−	3^{\circ}	\text{F}	=	98^{\circ}	\text{F}$		8.	What	will	be	the	coordinates	of	A	if	$x	=	−5$	and		$y	=	−	7$.	In	which	quadrant	will	A	lie?	Solution:	Since	it	is	given	that	$x	=	−	5$	and		$y	=	−	7$,	the	coordinates	of	A	will	be	$(−	5,	−	7)$.	Also,	as	both
the	coordinates	are	negative,	i.e.,	$(	−	x,	−	y)$,	A	will	lie	in	the	third	quadrant.		9.	An	elevator	is	on	the	eighteenth	floor.	It	goes	down	13	floors.	What	floor	is	the	elevator	on	now?	Solution:	The	floor	on	which	the	elevator	is	now	$=	18	−	13	=	5$th	floor	10.	Is	$(4	−	6)		=		(6	−	4)$?	Solution:	Let	us	find	the	solution	to	both	of	them.	On	the	left	side,	$4	−
6	=	−	2$		Whereas,	on	the	right	side,	$6	−	4	=	2$	We	can	clearly	see	that	$2	eq	−	2$.	So,	$(4	−	6)$		is	not	equal	to	$(6	−	4)$.	Attend	this	quiz	&	Test	your	knowledge.Correct	answer	is:	39Let’s	use	the	steps	for	subtraction	with	regrouping.Correct	answer	is:	99Let’s	use	the	steps	for	subtraction	with	regrouping.Correct	answer	is:	7Here,	we	will
subtract	18	from	25	to	find	the	answer.Correct	answer	is:	$7	−	5	=	2$Starting	from	7,	we	took	5	steps	back	and	landed	on	2.	So,	the	image	shows	the	equation	$7	−	5	=	2$.Correct	answer	is:	246C	Why	is	the	answer	to	a	subtraction	problem	called	the	difference?	Because	if	you	subtract	a	smaller	number	from	a	bigger	number	the	result	is	the
difference	between	the	two	numbers.		Example:	Subtract	2	from	6	$6	−	2	=	4$	But,	the	number	6	is	also	4	bigger	than	2.	It	is	the	difference	between	the	two	numbers.	Which	other	operation	has	the	output	smaller	than	the	input?	Another	operation	where	the	output	is	smaller	than	the	input	is	division.	Is	subtraction	associative?	No,	subtraction	is	not
associative.	Let	us	look	at	it	using	an	example.	$10	−	(5	−	1)	eq	(10	−	5)	−	1$	Can	we	subtract	a	larger	number	from	a	smaller	number?	Yes,	we	can	subtract	a	larger	number	from	a	smaller	number.	The	resultant	will	be	a	negative	number.	Mathematically	speaking,	why	does	subtraction	by	“counting	up”	work?	When	we	subtract	2	numbers,	we	can
do	it	in	two	ways.	Let’s	take	an	example	of	subtracting	5	from	8.	You	can	either	take	8	and	subtract	5	from	it,	or	you	can	begin	with	5	and	count	up	to	8.	When	you	begin	with	5	and	count	up	to	8,	you	do	it	3	times:	6,	7	and	8.	So,	3	will	be	the	difference	between	5	and	8.	What	is	the	difference	between	minus	sign	and	plus	sign?	Minus	sign	is	denoted	by
a	horizontal	symbol,	i.e.,	$−$,	and	it	means	to	subtract	or	take	away.	Whereas,	the	plus	sign	is	denoted	by	intersection	of	horizontal	and	vertical	lines,	i.e.,	$+$	which	means	to	add	or	find	the	sum.	Does	commutative	property	hold	true	for	subtraction?	The	commutative	property	does	not	hold	for	subtraction.	It	means	for	any	two	whole	numbers,
$\text{A}	−	\text{B}	eq	\text{B}	−	\text{A}$.For	example:	$3	−	5	=	−	2$	and	$5	−	3	=	2$	and	$−	2	eq	2$.	Does	Associative	property	hold	true	for	subtraction?	The	associative	property	does	not	hold	for	subtraction.	It	means	for	any	three	whole	numbers	A,	B,	and	C.	$\text{A}	–	(\text{B}	–	\text{C})	eq	(\text{A}	–	\text{B})	–	\text{C}$	For	example:
$(2	–	3)	–	5	=	–	1	–	5	=	–	6$	and	$2	–	(3	–	5)	=	2	+	2$	and	$–	6	eq	4$.	What	is	a	minuend	and	a	subtrahend?	In	a	subtraction	equation,	minuend	is	the	highest	number	from	which	a	component	would	be	subtracted.	A	subtrahend	is	the	term	that	denotes	the	number	being	subtracted	from	another.	Who	discovered	the	minus	sign?	Robert	Recorde
introduced	the	modern	use	of	minus	to	the	UK	in	1557.	The	first	appearance	of	the	minus	sign	was	given	by	Johannes	Widmann	in	1489	and	was	found	in	his	book	called	“Mercantile	Arithmetic.”	One	of	the	four	basic	arithmetic	operations	"Subtract"	redirects	here.	For	other	uses,	see	Subtraction	(disambiguation).	This	article	needs	additional	citations
for	verification.	Please	help	improve	this	article	by	adding	citations	to	reliable	sources.	Unsourced	material	may	be	challenged	and	removed.Find	sources:	"Subtraction"	–	news	·	newspapers	·	books	·	scholar	·	JSTOR	(May	2018)	(Learn	how	and	when	to	remove	this	message)	"5	−	2	=	3"	(verbally,	"five	minus	two	equals	three")	Arithmetic	operationsvte
Addition	(+)	term	+	term	summand	+	summand	addend	+	addend	augend	+	addend	}	=	{\displaystyle	\scriptstyle	\left.{\begin{matrix}\scriptstyle	{\text{term}}\,+\,{\text{term}}\\\scriptstyle	{\text{summand}}\,+\,{\text{summand}}\\\scriptstyle	{\text{addend}}\,+\,{\text{addend}}\\\scriptstyle	{\text{augend}}\,+\,
{\text{addend}}\end{matrix}}\right\}\,=\,}	sum	{\displaystyle	\scriptstyle	{\text{sum}}}	Subtraction	(−)	term	−	term	minuend	−	subtrahend	}	=	{\displaystyle	\scriptstyle	\left.{\begin{matrix}\scriptstyle	{\text{term}}\,-\,{\text{term}}\\\scriptstyle	{\text{minuend}}\,-\,{\text{subtrahend}}\end{matrix}}\right\}\,=\,}	difference	{\displaystyle
\scriptstyle	{\text{difference}}}	Multiplication	(×)	factor	×	factor	multiplier	×	multiplicand	}	=	{\displaystyle	\scriptstyle	\left.{\begin{matrix}\scriptstyle	{\text{factor}}\,\times	\,{\text{factor}}\\\scriptstyle	{\text{multiplier}}\,\times	\,{\text{multiplicand}}\end{matrix}}\right\}\,=\,}	product	{\displaystyle	\scriptstyle	{\text{product}}}	Division
(÷)	dividend	divisor	numerator	denominator	}	=	{\displaystyle	\scriptstyle	\left.{\begin{matrix}\scriptstyle	{\frac	{\scriptstyle	{\text{dividend}}}{\scriptstyle	{\text{divisor}}}}\\[1ex]\scriptstyle	{\frac	{\scriptstyle	{\text{numerator}}}{\scriptstyle	{\text{denominator}}}}\end{matrix}}\right\}\,=\,}	{	fraction	quotient	ratio	{\displaystyle	\scriptstyle
\left\{{\begin{matrix}\scriptstyle	{\text{fraction}}\\\scriptstyle	{\text{quotient}}\\\scriptstyle	{\text{ratio}}\end{matrix}}\right.}	Exponentiation	base	exponent	base	power	}	=	{\displaystyle	\scriptstyle	\left.{\begin{matrix}\scriptstyle	{\text{base}}^{\text{exponent}}\\\scriptstyle	{\text{base}}^{\text{power}}\end{matrix}}\right\}\,=\,}	power
{\displaystyle	\scriptstyle	{\text{power}}}	nth	root	(√)	radicand	degree	=	{\displaystyle	\scriptstyle	{\sqrt[{\text{degree}}]{\scriptstyle	{\text{radicand}}}}\,=\,}	root	{\displaystyle	\scriptstyle	{\text{root}}}	Logarithm	(log)	log	base	⁡	(	anti-logarithm	)	=	{\displaystyle	\scriptstyle	\log	_{\text{base}}({\text{anti-logarithm}})\,=\,}	logarithm
{\displaystyle	\scriptstyle	{\text{logarithm}}}	vte	Placard	outside	a	shop	in	Bordeaux	advertising	subtraction	of	20%	from	the	price	of	the	second	perfume	purchased.	Subtraction	(which	is	signified	by	the	minus	sign,	–)	is	one	of	the	four	arithmetic	operations	along	with	addition,	multiplication	and	division.	Subtraction	is	an	operation	that	represents
removal	of	objects	from	a	collection.[1]	For	example,	in	the	adjacent	picture,	there	are	5	−	2	peaches—meaning	5	peaches	with	2	taken	away,	resulting	in	a	total	of	3	peaches.	Therefore,	the	difference	of	5	and	2	is	3;	that	is,	5	−	2	=	3.	While	primarily	associated	with	natural	numbers	in	arithmetic,	subtraction	can	also	represent	removing	or
decreasing	physical	and	abstract	quantities	using	different	kinds	of	objects	including	negative	numbers,	fractions,	irrational	numbers,	vectors,	decimals,	functions,	and	matrices.[2]	In	a	sense,	subtraction	is	the	inverse	of	addition.	That	is,	c	=	a	−	b	if	and	only	if	c	+	b	=	a.	In	words:	the	difference	of	two	numbers	is	the	number	that	gives	the	first	one
when	added	to	the	second	one.	Subtraction	follows	several	important	patterns.	It	is	anticommutative,	meaning	that	changing	the	order	changes	the	sign	of	the	answer.	It	is	also	not	associative,	meaning	that	when	one	subtracts	more	than	two	numbers,	the	order	in	which	subtraction	is	performed	matters.	Because	0	is	the	additive	identity,	subtraction
of	it	does	not	change	a	number.	Subtraction	also	obeys	predictable	rules	concerning	related	operations,	such	as	addition	and	multiplication.	All	of	these	rules	can	be	proven,	starting	with	the	subtraction	of	integers	and	generalizing	up	through	the	real	numbers	and	beyond.	General	binary	operations	that	follow	these	patterns	are	studied	in	abstract
algebra.	In	computability	theory,	considering	subtraction	is	not	well-defined	over	natural	numbers,	operations	between	numbers	are	actually	defined	using	"truncated	subtraction"	or	monus.[3]	Subtraction	is	usually	written	using	the	minus	sign	"−"	between	the	terms;	that	is,	in	infix	notation.	The	result	is	expressed	with	an	equals	sign.	For	example,	2
−	1	=	1	{\displaystyle	2-1=1}	(pronounced	as	"two	minus	one	equals	one")	and	4	−	6	=	−	2	{\displaystyle	4-6=-2}	(pronounced	as	"four	minus	six	equals	negative	two").	Nonetheless,	some	situations	where	subtraction	is	"understood",	even	though	no	symbol	appears;	in	accounting,	a	column	of	two	numbers,	with	the	lower	number	in	red,	usually
indicates	that	the	lower	number	in	the	column	is	to	be	subtracted,	with	the	difference	written	below,	under	a	line.[4]	The	number	being	subtracted	is	the	subtrahend,	while	the	number	it	is	subtracted	from	is	the	minuend.	The	result	is	the	difference,	that	is:[5]	m	i	n	u	e	n	d	−	s	u	b	t	r	a	h	e	n	d	=	d	i	f	f	e	r	e	n	c	e	{\displaystyle	{\rm	{minuend}}-{\rm
{subtrahend}}={\rm	{difference}}}	.	All	of	this	terminology	derives	from	Latin.	"Subtraction"	is	an	English	word	derived	from	the	Latin	verb	subtrahere,	which	in	turn	is	a	compound	of	sub	"from	under"	and	trahere	"to	pull".	Thus,	to	subtract	is	to	draw	from	below,	or	to	take	away.[6]	Using	the	gerundive	suffix	-nd	results	in	"subtrahend",	"thing	to
be	subtracted".[a]	Likewise,	from	minuere	"to	reduce	or	diminish",	one	gets	"minuend",	which	means	"thing	to	be	diminished".	Imagine	a	line	segment	of	length	b	with	the	left	end	labeled	a	and	the	right	end	labeled	c.	Starting	from	a,	it	takes	b	steps	to	the	right	to	reach	c.	This	movement	to	the	right	is	modeled	mathematically	by	addition:	a	+	b	=	c.
From	c,	it	takes	b	steps	to	the	left	to	get	back	to	a.	This	movement	to	the	left	is	modeled	by	subtraction:	c	−	b	=	a.	Now,	a	line	segment	labeled	with	the	numbers	1,	2,	and	3.	From	position	3,	it	takes	no	steps	to	the	left	to	stay	at	3,	so	3	−	0	=	3.	It	takes	2	steps	to	the	left	to	get	to	position	1,	so	3	−	2	=	1.	This	picture	is	inadequate	to	describe	what
would	happen	after	going	3	steps	to	the	left	of	position	3.	To	represent	such	an	operation,	the	line	must	be	extended.	To	subtract	arbitrary	natural	numbers,	one	begins	with	a	line	containing	every	natural	number	(0,	1,	2,	3,	4,	5,	6,	...).	From	3,	it	takes	3	steps	to	the	left	to	get	to	0,	so	3	−	3	=	0.	But	3	−	4	is	still	invalid,	since	it	again	leaves	the	line.
The	natural	numbers	are	not	a	useful	context	for	subtraction.	The	solution	is	to	consider	the	integer	number	line	(...,	−3,	−2,	−1,	0,	1,	2,	3,	...).	This	way,	it	takes	4	steps	to	the	left	from	3	to	get	to	−1:	3	−	4	=	−1.	Subtraction	of	natural	numbers	is	not	closed:	the	difference	is	not	a	natural	number	unless	the	minuend	is	greater	than	or	equal	to	the
subtrahend.	For	example,	26	cannot	be	subtracted	from	11	to	give	a	natural	number.	Such	a	case	uses	one	of	two	approaches:	Conclude	that	26	cannot	be	subtracted	from	11;	subtraction	becomes	a	partial	function.	Give	the	answer	as	an	integer	representing	a	negative	number,	so	the	result	of	subtracting	26	from	11	is	−15.	The	field	of	real	numbers
can	be	defined	specifying	only	two	binary	operations,	addition	and	multiplication,	together	with	unary	operations	yielding	additive	and	multiplicative	inverses.	The	subtraction	of	a	real	number	(the	subtrahend)	from	another	(the	minuend)	can	then	be	defined	as	the	addition	of	the	minuend	and	the	additive	inverse	of	the	subtrahend.	For	example,	3	−
π	=	3	+	(−π).	Alternatively,	instead	of	requiring	these	unary	operations,	the	binary	operations	of	subtraction	and	division	can	be	taken	as	basic.	Subtraction	is	anti-commutative,	meaning	that	if	one	reverses	the	terms	in	a	difference	left-to-right,	the	result	is	the	negative	of	the	original	result.	Symbolically,	if	a	and	b	are	any	two	numbers,	then	a	−	b	=
−(b	−	a).	Subtraction	is	non-associative,	which	comes	up	when	one	tries	to	define	repeated	subtraction.	In	general,	the	expression	"a	−	b	−	c"	can	be	defined	to	mean	either	(a	−	b)	−	c	or	a	−	(b	−	c),	but	these	two	possibilities	lead	to	different	answers.	To	resolve	this	issue,	one	must	establish	an	order	of	operations,	with	different	orders	yielding
different	results.	In	the	context	of	integers,	subtraction	of	one	also	plays	a	special	role:	for	any	integer	a,	the	integer	(a	−	1)	is	the	largest	integer	less	than	a,	also	known	as	the	predecessor	of	a.	When	subtracting	two	numbers	with	units	of	measurement	such	as	kilograms	or	pounds,	they	must	have	the	same	unit.	In	most	cases,	the	difference	will	have
the	same	unit	as	the	original	numbers.	Changes	in	percentages	can	be	reported	in	at	least	two	forms,	percentage	change	and	percentage	point	change.	Percentage	change	represents	the	relative	change	between	the	two	quantities	as	a	percentage,	while	percentage	point	change	is	simply	the	number	obtained	by	subtracting	the	two	percentages.[7][8]
[9]	As	an	example,	suppose	that	30%	of	widgets	made	in	a	factory	are	defective.	Six	months	later,	20%	of	widgets	are	defective.	The	percentage	change	is	⁠20%	−	30%/30%⁠	=	−⁠1/3⁠	=	⁠−33+1/3⁠%,	while	the	percentage	point	change	is	−10	percentage	points.	The	method	of	complements	is	a	technique	used	to	subtract	one	number	from	another	using	only
the	addition	of	positive	numbers.	This	method	was	commonly	used	in	mechanical	calculators,	and	is	still	used	in	modern	computers.	Binarydigit	Ones'	complement	0	1	1	0	To	subtract	a	binary	number	y	(the	subtrahend)	from	another	number	x	(the	minuend),	the	ones'	complement	of	y	is	added	to	x	and	one	is	added	to	the	sum.	The	leading	digit	"1"	of
the	result	is	then	discarded.	The	method	of	complements	is	especially	useful	in	binary	(radix	2)	since	the	ones'	complement	is	very	easily	obtained	by	inverting	each	bit	(changing	"0"	to	"1"	and	vice	versa).	And	adding	1	to	get	the	two's	complement	can	be	done	by	simulating	a	carry	into	the	least	significant	bit.	For	example:	01100100	(x,	equals
decimal	100)	-	00010110	(y,	equals	decimal	22)	becomes	the	sum:	01100100	(x)	+	11101001	(ones'	complement	of	y)	+	1	(to	get	the	two's	complement)	——————————	101001110	Dropping	the	initial	"1"	gives	the	answer:	01001110	(equals	decimal	78)	Methods	used	to	teach	subtraction	to	elementary	school	vary	from	country	to	country,	and
within	a	country,	different	methods	are	adopted	at	different	times.	In	what	is	known	in	the	United	States	as	traditional	mathematics,	a	specific	process	is	taught	to	students	at	the	end	of	the	1st	year	(or	during	the	2nd	year)	for	use	with	multi-digit	whole	numbers,	and	is	extended	in	either	the	fourth	or	fifth	grade	to	include	decimal	representations	of
fractional	numbers.	Almost	all	American	schools	currently	teach	a	method	of	subtraction	using	borrowing	or	regrouping	(the	decomposition	algorithm)	and	a	system	of	markings	called	crutches.[10][11]	Although	a	method	of	borrowing	had	been	known	and	published	in	textbooks	previously,	the	use	of	crutches	in	American	schools	spread	after	William
A.	Brownell	published	a	study—claiming	that	crutches	were	beneficial	to	students	using	this	method.[12]	This	system	caught	on	rapidly,	displacing	the	other	methods	of	subtraction	in	use	in	America	at	that	time.	Some	European	schools	employ	a	method	of	subtraction	called	the	Austrian	method,	also	known	as	the	additions	method.	There	is	no
borrowing	in	this	method.	There	are	also	crutches	(markings	to	aid	memory),	which	vary	by	country.[13][14]	Both	these	methods	break	up	the	subtraction	as	a	process	of	one	digit	subtractions	by	place	value.	Starting	with	a	least	significant	digit,	a	subtraction	of	the	subtrahend:	sj	sj−1	...	s1	from	the	minuend	mk	mk−1	...	m1,	where	each	si	and	mi	is	a
digit,	proceeds	by	writing	down	m1	−	s1,	m2	−	s2,	and	so	forth,	as	long	as	si	does	not	exceed	mi.	Otherwise,	mi	is	increased	by	10	and	some	other	digit	is	modified	to	correct	for	this	increase.	The	American	method	corrects	by	attempting	to	decrease	the	minuend	digit	mi+1	by	one	(or	continuing	the	borrow	leftwards	until	there	is	a	non-zero	digit	from
which	to	borrow).	The	European	method	corrects	by	increasing	the	subtrahend	digit	si+1	by	one.	Example:	704	−	512.	−	1	C	D	U	7	0	4	5	1	2	1	9	2	⟵	c	a	r	r	y	⟵	M	i	n	u	e	n	d	⟵	S	u	b	t	r	a	h	e	n	d	⟵	R	e	s	t	o	r	D	i	f	f	e	r	e	n	c	e	{\displaystyle	{\begin{array}{rrrr}&\color	{Red}-1\\&C&D&U\\&7&0&4\\&5&1&2\\\hline	&1&9&2\\\end{array}}
{\begin{array}{l}{\color	{Red}\longleftarrow	{\rm	{carry}}}\\\\\longleftarrow	\;{\rm	{Minuend}}\\\longleftarrow	\;{\rm	{Subtrahend}}\\\longleftarrow	{\rm	{Rest\;or\;Difference}}\\\end{array}}}	The	minuend	is	704,	the	subtrahend	is	512.	The	minuend	digits	are	m3	=	7,	m2	=	0	and	m1	=	4.	The	subtrahend	digits	are	s3	=	5,	s2	=	1	and	s1	=	2.
Beginning	at	the	one's	place,	4	is	not	less	than	2	so	the	difference	2	is	written	down	in	the	result's	one's	place.	In	the	ten's	place,	0	is	less	than	1,	so	the	0	is	increased	by	10,	and	the	difference	with	1,	which	is	9,	is	written	down	in	the	ten's	place.	The	American	method	corrects	for	the	increase	of	ten	by	reducing	the	digit	in	the	minuend's	hundreds
place	by	one.	That	is,	the	7	is	struck	through	and	replaced	by	a	6.	The	subtraction	then	proceeds	in	the	hundreds	place,	where	6	is	not	less	than	5,	so	the	difference	is	written	down	in	the	result's	hundred's	place.	We	are	now	done,	the	result	is	192.	The	Austrian	method	does	not	reduce	the	7	to	6.	Rather	it	increases	the	subtrahend	hundreds	digit	by
one.	A	small	mark	is	made	near	or	below	this	digit	(depending	on	the	school).	Then	the	subtraction	proceeds	by	asking	what	number	when	increased	by	1,	and	5	is	added	to	it,	makes	7.	The	answer	is	1,	and	is	written	down	in	the	result's	hundreds	place.	There	is	an	additional	subtlety	in	that	the	student	always	employs	a	mental	subtraction	table	in	the
American	method.	The	Austrian	method	often	encourages	the	student	to	mentally	use	the	addition	table	in	reverse.	In	the	example	above,	rather	than	adding	1	to	5,	getting	6,	and	subtracting	that	from	7,	the	student	is	asked	to	consider	what	number,	when	increased	by	1,	and	5	is	added	to	it,	makes	7.	Example:[citation	needed]	1	+	...	=	3	The
difference	is	written	under	the	line.	9	+	...	=	5The	required	sum	(5)	is	too	small.	So,	we	add	10	to	it	and	put	a	1	under	the	next	higher	place	in	the	subtrahend.	9	+	...	=	15Now	we	can	find	the	difference	as	before.	(4	+	1)	+	...	=	7	The	difference	is	written	under	the	line.	The	total	difference.	Example:[citation	needed]	7	−	4	=	3This	result	is	only
penciled	in.	Because	the	next	digit	of	the	minuend	is	smaller	than	the	subtrahend,	we	subtract	one	from	our	penciled-in-number	and	mentally	add	ten	to	the	next.	15	−	9	=	6	Because	the	next	digit	in	the	minuend	is	not	smaller	than	the	subtrahend,	we	keep	this	number.	3	−	1	=	2	In	this	method,	each	digit	of	the	subtrahend	is	subtracted	from	the	digit
above	it	starting	from	right	to	left.	If	the	top	number	is	too	small	to	subtract	the	bottom	number	from	it,	we	add	10	to	it;	this	10	is	"borrowed"	from	the	top	digit	to	the	left,	which	we	subtract	1	from.	Then	we	move	on	to	subtracting	the	next	digit	and	borrowing	as	needed,	until	every	digit	has	been	subtracted.	Example:[citation	needed]	3	−	1	=	...	We
write	the	difference	under	the	line.	5	−	9	=	...	The	minuend	(5)	is	too	small!	So,	we	add	10	to	it.	The	10	is	"borrowed"	from	the	digit	on	the	left,	which	goes	down	by	1.	15	−	9	=	...	Now	the	subtraction	works,	and	we	write	the	difference	under	the	line.	6	−	4	=	...	We	write	the	difference	under	the	line.	The	total	difference.	A	variant	of	the	American
method	where	all	borrowing	is	done	before	all	subtraction.[15]	Example:	1	−	3	=	not	possible.We	add	a	10	to	the	1.	Because	the	10	is	"borrowed"	from	the	nearby	5,	the	5	is	lowered	by	1.	4	−	9	=	not	possible.So	we	proceed	as	in	step	1.	Working	from	right	to	left:11	−	3	=	8	14	−	9	=	5	6	−	4	=	2	The	partial	differences	method	is	different	from	other
vertical	subtraction	methods	because	no	borrowing	or	carrying	takes	place.	In	their	place,	one	places	plus	or	minus	signs	depending	on	whether	the	minuend	is	greater	or	smaller	than	the	subtrahend.	The	sum	of	the	partial	differences	is	the	total	difference.[16]	Example:	The	smaller	number	is	subtracted	from	the	greater:700	−	400	=	300Because
the	minuend	is	greater	than	the	subtrahend,	this	difference	has	a	plus	sign.	The	smaller	number	is	subtracted	from	the	greater:90	−	50	=	40Because	the	minuend	is	smaller	than	the	subtrahend,	this	difference	has	a	minus	sign.	The	smaller	number	is	subtracted	from	the	greater:3	−	1	=	2Because	the	minuend	is	greater	than	the	subtrahend,	this
difference	has	a	plus	sign.	+300	−	40	+	2	=	262	Instead	of	finding	the	difference	digit	by	digit,	one	can	count	up	the	numbers	between	the	subtrahend	and	the	minuend.[17]	Example:	1234	−	567	=	can	be	found	by	the	following	steps:	567	+	3	=	570	570	+	30	=	600	600	+	400	=	1000	1000	+	234	=	1234	Add	up	the	value	from	each	step	to	get	the
total	difference:	3	+	30	+	400	+	234	=	667.	Another	method	that	is	useful	for	mental	arithmetic	is	to	split	up	the	subtraction	into	small	steps.[18]	Example:	1234	−	567	=	can	be	solved	in	the	following	way:	1234	−	500	=	734	734	−	60	=	674	674	−	7	=	667	The	same	change	method	uses	the	fact	that	adding	or	subtracting	the	same	number	from	the
minuend	and	subtrahend	does	not	change	the	answer.	One	simply	adds	the	amount	needed	to	get	zeros	in	the	subtrahend.[19]	Example:	"1234	−	567	="	can	be	solved	as	follows:	1234	−	567	=	1237	−	570	=	1267	−	600	=	667	Absolute	difference	Decrement	Elementary	arithmetic	Method	of	complements	Negative	number	Plus	and	minus	signs	Monus
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Educator,	Vol.	8,	No.	1	(original	publication)	and	Vol.	10,	No.	1	(reprint.)	PDF	Look	up	subtraction	in	Wiktionary,	the	free	dictionary.	Wikimedia	Commons	has	media	related	to	Subtraction.	"Subtraction",	Encyclopedia	of	Mathematics,	EMS	Press,	2001	[1994]	Printable	Worksheets:	Subtraction	Worksheets,	One	Digit	Subtraction,	Two	Digit
Subtraction,	Four	Digit	Subtraction,	and	More	Subtraction	Worksheets	Subtraction	Game	at	cut-the-knot	Subtraction	on	a	Japanese	abacus	selected	from	Abacus:	Mystery	of	the	Bead	Retrieved	from	"	2Number	This	article	is	about	the	number.	For	the	year	AD	1,	and	other	uses,	see	One	(disambiguation)	and	Number	One	(disambiguation)	This	article
contains	special	characters.	Without	proper	rendering	support,	you	may	see	question	marks,	boxes,	or	other	symbols.	Natural	number	←	0	1	2	→	−1	0	1	2	3	4	5	6	7	8	9	→	List	of	numbersIntegers←	0	10	20	30	40	50	60	70	80	90	→CardinaloneOrdinal1st(first)Numeral	systemunaryFactorization∅Divisors1Greek	numeralΑ´Roman	numeralI,	iGreek
prefixmono-/haplo-Latin	prefixuni-Binary12Ternary13Senary16Octal18Duodecimal112Hexadecimal116Greek	numeralα'Arabic,	Kurdish,	Persian,	Sindhi,	Urdu١Assamese	&	Bengali฀Chinese	numeral一/弌/壹Devanāgarī฀Santali฀Ge'ez฀GeorgianႠ/ⴀ/ა(Ani)HebrewאJapanese	numeral一/壱
Kannada฀Khmer฀ArmenianԱMalayalam฀Meitei฀Thai฀Tamil฀Telugu฀Babylonian	numeral฀Egyptian	hieroglyph,	Aegean	numeral,	Chinese	counting	rod฀Mayan	numeral•Morse	code.	_	_	_	_	1	(one,	unit,	unity)	is	a	number,	numeral,	and	glyph.	It	is	the	first	and	smallest	positive	integer	of	the	infinite	sequence	of	natural	numbers.	This	fundamental	property
has	led	to	its	unique	uses	in	other	fields,	ranging	from	science	to	sports,	where	it	commonly	denotes	the	first,	leading,	or	top	thing	in	a	group.	1	is	the	unit	of	counting	or	measurement,	a	determiner	for	singular	nouns,	and	a	gender-neutral	pronoun.	Historically,	the	representation	of	1	evolved	from	ancient	Sumerian	and	Babylonian	symbols	to	the
modern	Arabic	numeral.	In	mathematics,	1	is	the	multiplicative	identity,	meaning	that	any	number	multiplied	by	1	equals	the	same	number.	1	is	by	convention	not	considered	a	prime	number.	In	digital	technology,	1	represents	the	"on"	state	in	binary	code,	the	foundation	of	computing.	Philosophically,	1	symbolizes	the	ultimate	reality	or	source	of
existence	in	various	traditions.	The	number	1	is	the	first	natural	number	after	0.	Each	natural	number,	including	1,	is	constructed	by	succession,	that	is,	by	adding	1	to	the	previous	natural	number.	The	number	1	is	the	multiplicative	identity	of	the	integers,	real	numbers,	and	complex	numbers,	that	is,	any	number	n	{\displaystyle	n}	multiplied	by	1
remains	unchanged	(	1	×	n	=	n	×	1	=	n	{\displaystyle	1\times	n=n\times	1=n}	).	As	a	result,	the	square	(	1	2	=	1	{\displaystyle	1^{2}=1}	),	square	root	(	1	=	1	{\displaystyle	{\sqrt	{1}}=1}	),	and	any	other	power	of	1	is	always	equal	to	1	itself.[1]	1	is	its	own	factorial	(	1	!	=	1	{\displaystyle	1!=1}	),	and	0!	is	also	1.	These	are	a	special	case	of	the
empty	product.[2]	Although	1	meets	the	naïve	definition	of	a	prime	number,	being	evenly	divisible	only	by	1	and	itself	(also	1),	by	modern	convention	it	is	regarded	as	neither	a	prime	nor	a	composite	number.[3]	Different	mathematical	constructions	of	the	natural	numbers	represent	1	in	various	ways.	In	Giuseppe	Peano's	original	formulation	of	the
Peano	axioms,	a	set	of	postulates	to	define	the	natural	numbers	in	a	precise	and	logical	way,	1	was	treated	as	the	starting	point	of	the	sequence	of	natural	numbers.[4][5]	Peano	later	revised	his	axioms	to	begin	the	sequence	with	0.[4][6]	In	the	Von	Neumann	cardinal	assignment	of	natural	numbers,	where	each	number	is	defined	as	a	set	that	contains
all	numbers	before	it,	1	is	represented	as	the	singleton	{	0	}	{\displaystyle	\{0\}}	,	a	set	containing	only	the	element	0.[7]	The	unary	numeral	system,	as	used	in	tallying,	is	an	example	of	a	"base-1"	number	system,	since	only	one	mark	–	the	tally	itself	–	is	needed.	While	this	is	the	simplest	way	to	represent	the	natural	numbers,	base-1	is	rarely	used	as
a	practical	base	for	counting	due	to	its	difficult	readability.[8][9]	In	many	mathematical	and	engineering	problems,	numeric	values	are	typically	normalized	to	fall	within	the	unit	interval	([0,1]),	where	1	represents	the	maximum	possible	value.	For	example,	by	definition	1	is	the	probability	of	an	event	that	is	absolutely	or	almost	certain	to	occur.[10]
Likewise,	vectors	are	often	normalized	into	unit	vectors	(i.e.,	vectors	of	magnitude	one),	because	these	often	have	more	desirable	properties.	Functions	are	often	normalized	by	the	condition	that	they	have	integral	one,	maximum	value	one,	or	square	integral	one,	depending	on	the	application.[11]	1	is	the	value	of	Legendre's	constant,	introduced	in
1808	by	Adrien-Marie	Legendre	to	express	the	asymptotic	behavior	of	the	prime-counting	function.[12]	The	Weil's	conjecture	on	Tamagawa	numbers	states	that	the	Tamagawa	number	τ	(	G	)	{\displaystyle	\tau	(G)}	,	a	geometrical	measure	of	a	connected	linear	algebraic	group	over	a	global	number	field,	is	1	for	all	simply	connected	groups	(those	that
are	path-connected	with	no	'holes').[13][14]	1	is	the	most	common	leading	digit	in	many	sets	of	real-world	numerical	data.	This	is	a	consequence	of	Benford’s	law,	which	states	that	the	probability	for	a	specific	leading	digit	d	{\displaystyle	d}	is	log	10	⁡	(	d	+	1	d	)	{\textstyle	\log	_{10}\left({\frac	{d+1}{d}}\right)}	.	The	tendency	for	real-world
numbers	to	grow	exponentially	or	logarithmically	biases	the	distribution	towards	smaller	leading	digits,	with	1	occurring	approximately	30%	of	the	time.[15]	See	also:	One	(pronoun)	One	originates	from	the	Old	English	word	an,	derived	from	the	Germanic	root	*ainaz,	from	the	Proto-Indo-European	root	*oi-no-	(meaning	"one,	unique").[16]
Linguistically,	one	is	a	cardinal	number	used	for	counting	and	expressing	the	number	of	items	in	a	collection	of	things.[17]	One	is	most	commonly	a	determiner	used	with	singular	countable	nouns,	as	in	one	day	at	a	time.[18]	The	determiner	has	two	senses:	numerical	one	(I	have	one	apple)	and	singulative	one	(one	day	I'll	do	it).[19]	One	is	also	a
gender-neutral	pronoun	used	to	refer	to	an	unspecified	person	or	to	people	in	general	as	in	one	should	take	care	of	oneself.[20]	Words	that	derive	their	meaning	from	one	include	alone,	which	signifies	all	one	in	the	sense	of	being	by	oneself,	none	meaning	not	one,	once	denoting	one	time,	and	atone	meaning	to	become	at	one	with	the	someone.
Combining	alone	with	only	(implying	one-like)	leads	to	lonely,	conveying	a	sense	of	solitude.[21]	Other	common	numeral	prefixes	for	the	number	1	include	uni-	(e.g.,	unicycle,	universe,	unicorn),	sol-	(e.g.,	solo	dance),	derived	from	Latin,	or	mono-	(e.g.,	monorail,	monogamy,	monopoly)	derived	from	Greek.[22][23]	See	also:	History	of	the	Hindu–Arabic
numeral	system	Among	the	earliest	known	records	of	a	numeral	system,	is	the	Sumerian	decimal-sexagesimal	system	on	clay	tablets	dating	from	the	first	half	of	the	third	millennium	BCE.[24]	Archaic	Sumerian	numerals	for	1	and	60	both	consisted	of	horizontal	semi-circular	symbols,	[25]	by	c. 2350	BCE,	the	older	Sumerian	curviform	numerals	were
replaced	with	cuneiform	symbols,	with	1	and	60	both	represented	by	the	same	mostly	vertical	symbol.	The	Sumerian	cuneiform	system	is	a	direct	ancestor	to	the	Eblaite	and	Assyro-Babylonian	Semitic	cuneiform	decimal	systems.[26]	Surviving	Babylonian	documents	date	mostly	from	Old	Babylonian	(c. 1500	BCE)	and	the	Seleucid	(c. 300	BCE)	eras.
[24]	The	Babylonian	cuneiform	script	notation	for	numbers	used	the	same	symbol	for	1	and	60	as	in	the	Sumerian	system.[27]	The	most	commonly	used	glyph	in	the	modern	Western	world	to	represent	the	number	1	is	the	Arabic	numeral,	a	vertical	line,	often	with	a	serif	at	the	top	and	sometimes	a	short	horizontal	line	at	the	bottom.	It	can	be	traced
back	to	the	Brahmic	script	of	ancient	India,	as	represented	by	Ashoka	as	a	simple	vertical	line	in	his	Edicts	of	Ashoka	in	c. 250	BCE.[28]	This	script's	numeral	shapes	were	transmitted	to	Europe	via	the	Maghreb	and	Al-Andalus	during	the	Middle	Ages	[29]	The	Arabic	numeral,	and	other	glyphs	used	to	represent	the	number	one	(e.g.,	Roman	numeral	(I
),	Chinese	numeral	(一))	are	logograms.	These	symbols	directly	represent	the	concept	of	'one'	without	breaking	it	down	into	phonetic	components.[30]	This	Woodstock	typewriter	from	the	1940s	lacks	a	separate	key	for	the	numeral	1.Hoefler	Text,	a	typeface	designed	in	1991,	uses	text	figures	and	represents	the	numeral	1	as	similar	to	a	small-caps	I.
In	modern	typefaces,	the	shape	of	the	character	for	the	digit	1	is	typically	typeset	as	a	lining	figure	with	an	ascender,	such	that	the	digit	is	the	same	height	and	width	as	a	capital	letter.	However,	in	typefaces	with	text	figures	(also	known	as	Old	style	numerals	or	non-lining	figures),	the	glyph	usually	is	of	x-height	and	designed	to	follow	the	rhythm	of
the	lowercase,	as,	for	example,	in	.[31]	In	many	typefaces	with	text	figures,	the	numeral	1	features	parallel	serifs	at	the	top	and	bottom,	resembling	a	small	caps	version	of	the	Roman	numeral	I.[32][33]	Many	older	typewriters	do	not	have	a	dedicated	key	for	the	numeral	1,	requiring	the	use	of	the	lowercase	letter	L	or	uppercase	I	as	substitutes.[34]
[35][36][37]	The	24-hour	tower	clock	in	Venice,	using	J	as	a	symbol	for	1	The	lower	case	"j"	can	be	considered	a	swash	variant	of	a	lower-case	Roman	numeral	"i",	often	employed	for	the	final	i	of	a	"lower-case"	Roman	numeral.	It	is	also	possible	to	find	historic	examples	of	the	use	of	j	or	J	as	a	substitute	for	the	Arabic	numeral	1.[38][39][40][41]	In
German,	the	serif	at	the	top	may	be	extended	into	a	long	upstroke	as	long	as	the	vertical	line.	This	variation	can	lead	to	confusion	with	the	glyph	used	for	seven	in	other	countries	and	so	to	provide	a	visual	distinction	between	the	two	the	digit	7	may	be	written	with	a	horizontal	stroke	through	the	vertical	line.[42]	In	digital	technology,	data	is
represented	by	binary	code,	i.e.,	a	base-2	numeral	system	with	numbers	represented	by	a	sequence	of	1s	and	0s.	Digitised	data	is	represented	in	physical	devices,	such	as	computers,	as	pulses	of	electricity	through	switching	devices	such	as	transistors	or	logic	gates	where	"1"	represents	the	value	for	"on".	As	such,	the	numerical	value	of	true	is	equal
to	1	in	many	programming	languages.[43][44]	In	lambda	calculus	and	computability	theory,	natural	numbers	are	represented	by	Church	encoding	as	functions,	where	the	Church	numeral	for	1	is	represented	by	the	function	f	{\displaystyle	f}	applied	to	an	argument	x	{\displaystyle	x}	once	(1	f	x	=	f	x	{\displaystyle	fx=fx}	).[45]	In	physics,	selected
physical	constants	are	set	to	1	in	natural	unit	systems	in	order	to	simplify	the	form	of	equations;	for	example,	in	Planck	units	the	speed	of	light	equals	1.[46]	Dimensionless	quantities	are	also	known	as	'quantities	of	dimension	one'.[47]	In	quantum	mechanics,	the	normalization	condition	for	wavefunctions	requires	the	integral	of	a	wavefunction's
squared	modulus	to	be	equal	to	1.[48]	In	chemistry,	hydrogen,	the	first	element	of	the	periodic	table	and	the	most	abundant	element	in	the	known	universe,	has	an	atomic	number	of	1.	Group	1	of	the	periodic	table	consists	of	hydrogen	and	the	alkali	metals.[49]	In	philosophy,	the	number	1	is	commonly	regarded	as	a	symbol	of	unity,	often	representing
God	or	the	universe	in	monotheistic	traditions.[50]	The	Pythagoreans	considered	the	numbers	to	be	plural	and	therefore	did	not	classify	1	itself	as	a	number,	but	as	the	origin	of	all	numbers.	In	their	number	philosophy,	where	odd	numbers	were	considered	male	and	even	numbers	female,	1	was	considered	neutral	capable	of	transforming	even
numbers	to	odd	and	vice	versa	by	addition.[50]	The	Neopythagorean	philosopher	Nicomachus	of	Gerasa's	number	treatise,	as	recovered	by	Boethius	in	the	Latin	translation	Introduction	to	Arithmetic,	affirmed	that	one	is	not	a	number,	but	the	source	of	number.[51]	In	the	philosophy	of	Plotinus	(and	that	of	other	neoplatonists),	'The	One'	is	the
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08-21.	Woodford,	Chris	(2006).	Digital	Technology.	Evans	Brothers.	ISBN	978-0-237-52725-9.	Retrieved	2016-03-24.	Retrieved	from	"	3Number	This	article	is	about	the	number.	For	the	year	AD	1,	and	other	uses,	see	One	(disambiguation)	and	Number	One	(disambiguation)	This	article	contains	special	characters.	Without	proper	rendering	support,
you	may	see	question	marks,	boxes,	or	other	symbols.	Natural	number	←	0	1	2	→	−1	0	1	2	3	4	5	6	7	8	9	→	List	of	numbersIntegers←	0	10	20	30	40	50	60	70	80	90	→CardinaloneOrdinal1st(first)Numeral	systemunaryFactorization∅Divisors1Greek	numeralΑ´Roman	numeralI,	iGreek	prefixmono-/haplo-Latin	prefixuni-
Binary12Ternary13Senary16Octal18Duodecimal112Hexadecimal116Greek	numeralα'Arabic,	Kurdish,	Persian,	Sindhi,	Urdu١Assamese	&	Bengali฀Chinese	numeral一/弌/壹Devanāgarī฀Santali฀Ge'ez฀GeorgianႠ/ⴀ/ა(Ani)HebrewאJapanese	numeral一/壱Kannada฀Khmer฀ArmenianԱMalayalam฀Meitei฀Thai฀Tamil฀Telugu฀Babylonian	numeral฀Egyptian
hieroglyph,	Aegean	numeral,	Chinese	counting	rodMayan	numeral•Morse	code.	_	_	_	_	1	(one,	unit,	unity)	is	a	number,	numeral,	and	glyph.	It	is	the	first	and	smallest	positive	integer	of	the	infinite	sequence	of	natural	numbers.	This	fundamental	property	has	led	to	its	unique	uses	in	other	fields,	ranging	from	science	to	sports,	where	it	commonly
denotes	the	first,	leading,	or	top	thing	in	a	group.	1	is	the	unit	of	counting	or	measurement,	a	determiner	for	singular	nouns,	and	a	gender-neutral	pronoun.	Historically,	the	representation	of	1	evolved	from	ancient	Sumerian	and	Babylonian	symbols	to	the	modern	Arabic	numeral.	In	mathematics,	1	is	the	multiplicative	identity,	meaning	that	any
number	multiplied	by	1	equals	the	same	number.	1	is	by	convention	not	considered	a	prime	number.	In	digital	technology,	1	represents	the	"on"	state	in	binary	code,	the	foundation	of	computing.	Philosophically,	1	symbolizes	the	ultimate	reality	or	source	of	existence	in	various	traditions.	The	number	1	is	the	first	natural	number	after	0.	Each	natural
number,	including	1,	is	constructed	by	succession,	that	is,	by	adding	1	to	the	previous	natural	number.	The	number	1	is	the	multiplicative	identity	of	the	integers,	real	numbers,	and	complex	numbers,	that	is,	any	number	n	{\displaystyle	n}	multiplied	by	1	remains	unchanged	(	1	×	n	=	n	×	1	=	n	{\displaystyle	1\times	n=n\times	1=n}	).	As	a	result,	the
square	(	1	2	=	1	{\displaystyle	1^{2}=1}	),	square	root	(	1	=	1	{\displaystyle	{\sqrt	{1}}=1}	),	and	any	other	power	of	1	is	always	equal	to	1	itself.[1]	1	is	its	own	factorial	(	1	!	=	1	{\displaystyle	1!=1}	),	and	0!	is	also	1.	These	are	a	special	case	of	the	empty	product.[2]	Although	1	meets	the	naïve	definition	of	a	prime	number,	being	evenly	divisible
only	by	1	and	itself	(also	1),	by	modern	convention	it	is	regarded	as	neither	a	prime	nor	a	composite	number.[3]	Different	mathematical	constructions	of	the	natural	numbers	represent	1	in	various	ways.	In	Giuseppe	Peano's	original	formulation	of	the	Peano	axioms,	a	set	of	postulates	to	define	the	natural	numbers	in	a	precise	and	logical	way,	1	was
treated	as	the	starting	point	of	the	sequence	of	natural	numbers.[4][5]	Peano	later	revised	his	axioms	to	begin	the	sequence	with	0.[4][6]	In	the	Von	Neumann	cardinal	assignment	of	natural	numbers,	where	each	number	is	defined	as	a	set	that	contains	all	numbers	before	it,	1	is	represented	as	the	singleton	{	0	}	{\displaystyle	\{0\}}	,	a	set	containing
only	the	element	0.[7]	The	unary	numeral	system,	as	used	in	tallying,	is	an	example	of	a	"base-1"	number	system,	since	only	one	mark	–	the	tally	itself	–	is	needed.	While	this	is	the	simplest	way	to	represent	the	natural	numbers,	base-1	is	rarely	used	as	a	practical	base	for	counting	due	to	its	difficult	readability.[8][9]	In	many	mathematical	and
engineering	problems,	numeric	values	are	typically	normalized	to	fall	within	the	unit	interval	([0,1]),	where	1	represents	the	maximum	possible	value.	For	example,	by	definition	1	is	the	probability	of	an	event	that	is	absolutely	or	almost	certain	to	occur.[10]	Likewise,	vectors	are	often	normalized	into	unit	vectors	(i.e.,	vectors	of	magnitude	one),
because	these	often	have	more	desirable	properties.	Functions	are	often	normalized	by	the	condition	that	they	have	integral	one,	maximum	value	one,	or	square	integral	one,	depending	on	the	application.[11]	1	is	the	value	of	Legendre's	constant,	introduced	in	1808	by	Adrien-Marie	Legendre	to	express	the	asymptotic	behavior	of	the	prime-counting
function.[12]	The	Weil's	conjecture	on	Tamagawa	numbers	states	that	the	Tamagawa	number	τ	(	G	)	{\displaystyle	\tau	(G)}	,	a	geometrical	measure	of	a	connected	linear	algebraic	group	over	a	global	number	field,	is	1	for	all	simply	connected	groups	(those	that	are	path-connected	with	no	'holes').[13][14]	1	is	the	most	common	leading	digit	in	many
sets	of	real-world	numerical	data.	This	is	a	consequence	of	Benford’s	law,	which	states	that	the	probability	for	a	specific	leading	digit	d	{\displaystyle	d}	is	log	10	⁡	(	d	+	1	d	)	{\textstyle	\log	_{10}\left({\frac	{d+1}{d}}\right)}	.	The	tendency	for	real-world	numbers	to	grow	exponentially	or	logarithmically	biases	the	distribution	towards	smaller	leading
digits,	with	1	occurring	approximately	30%	of	the	time.[15]	See	also:	One	(pronoun)	One	originates	from	the	Old	English	word	an,	derived	from	the	Germanic	root	*ainaz,	from	the	Proto-Indo-European	root	*oi-no-	(meaning	"one,	unique").[16]	Linguistically,	one	is	a	cardinal	number	used	for	counting	and	expressing	the	number	of	items	in	a	collection
of	things.[17]	One	is	most	commonly	a	determiner	used	with	singular	countable	nouns,	as	in	one	day	at	a	time.[18]	The	determiner	has	two	senses:	numerical	one	(I	have	one	apple)	and	singulative	one	(one	day	I'll	do	it).[19]	One	is	also	a	gender-neutral	pronoun	used	to	refer	to	an	unspecified	person	or	to	people	in	general	as	in	one	should	take	care	of
oneself.[20]	Words	that	derive	their	meaning	from	one	include	alone,	which	signifies	all	one	in	the	sense	of	being	by	oneself,	none	meaning	not	one,	once	denoting	one	time,	and	atone	meaning	to	become	at	one	with	the	someone.	Combining	alone	with	only	(implying	one-like)	leads	to	lonely,	conveying	a	sense	of	solitude.[21]	Other	common	numeral
prefixes	for	the	number	1	include	uni-	(e.g.,	unicycle,	universe,	unicorn),	sol-	(e.g.,	solo	dance),	derived	from	Latin,	or	mono-	(e.g.,	monorail,	monogamy,	monopoly)	derived	from	Greek.[22][23]	See	also:	History	of	the	Hindu–Arabic	numeral	system	Among	the	earliest	known	records	of	a	numeral	system,	is	the	Sumerian	decimal-sexagesimal	system	on
clay	tablets	dating	from	the	first	half	of	the	third	millennium	BCE.[24]	Archaic	Sumerian	numerals	for	1	and	60	both	consisted	of	horizontal	semi-circular	symbols,	[25]	by	c. 2350	BCE,	the	older	Sumerian	curviform	numerals	were	replaced	with	cuneiform	symbols,	with	1	and	60	both	represented	by	the	same	mostly	vertical	symbol.	The	Sumerian
cuneiform	system	is	a	direct	ancestor	to	the	Eblaite	and	Assyro-Babylonian	Semitic	cuneiform	decimal	systems.[26]	Surviving	Babylonian	documents	date	mostly	from	Old	Babylonian	(c. 1500	BCE)	and	the	Seleucid	(c. 300	BCE)	eras.[24]	The	Babylonian	cuneiform	script	notation	for	numbers	used	the	same	symbol	for	1	and	60	as	in	the	Sumerian
system.[27]	The	most	commonly	used	glyph	in	the	modern	Western	world	to	represent	the	number	1	is	the	Arabic	numeral,	a	vertical	line,	often	with	a	serif	at	the	top	and	sometimes	a	short	horizontal	line	at	the	bottom.	It	can	be	traced	back	to	the	Brahmic	script	of	ancient	India,	as	represented	by	Ashoka	as	a	simple	vertical	line	in	his	Edicts	of
Ashoka	in	c. 250	BCE.[28]	This	script's	numeral	shapes	were	transmitted	to	Europe	via	the	Maghreb	and	Al-Andalus	during	the	Middle	Ages	[29]	The	Arabic	numeral,	and	other	glyphs	used	to	represent	the	number	one	(e.g.,	Roman	numeral	(I	),	Chinese	numeral	(一))	are	logograms.	These	symbols	directly	represent	the	concept	of	'one'	without
breaking	it	down	into	phonetic	components.[30]	This	Woodstock	typewriter	from	the	1940s	lacks	a	separate	key	for	the	numeral	1.Hoefler	Text,	a	typeface	designed	in	1991,	uses	text	figures	and	represents	the	numeral	1	as	similar	to	a	small-caps	I.	In	modern	typefaces,	the	shape	of	the	character	for	the	digit	1	is	typically	typeset	as	a	lining	figure
with	an	ascender,	such	that	the	digit	is	the	same	height	and	width	as	a	capital	letter.	However,	in	typefaces	with	text	figures	(also	known	as	Old	style	numerals	or	non-lining	figures),	the	glyph	usually	is	of	x-height	and	designed	to	follow	the	rhythm	of	the	lowercase,	as,	for	example,	in	.[31]	In	many	typefaces	with	text	figures,	the	numeral	1	features
parallel	serifs	at	the	top	and	bottom,	resembling	a	small	caps	version	of	the	Roman	numeral	I.[32][33]	Many	older	typewriters	do	not	have	a	dedicated	key	for	the	numeral	1,	requiring	the	use	of	the	lowercase	letter	L	or	uppercase	I	as	substitutes.[34][35][36][37]	The	24-hour	tower	clock	in	Venice,	using	J	as	a	symbol	for	1	The	lower	case	"j"	can	be
considered	a	swash	variant	of	a	lower-case	Roman	numeral	"i",	often	employed	for	the	final	i	of	a	"lower-case"	Roman	numeral.	It	is	also	possible	to	find	historic	examples	of	the	use	of	j	or	J	as	a	substitute	for	the	Arabic	numeral	1.[38][39][40][41]	In	German,	the	serif	at	the	top	may	be	extended	into	a	long	upstroke	as	long	as	the	vertical	line.	This
variation	can	lead	to	confusion	with	the	glyph	used	for	seven	in	other	countries	and	so	to	provide	a	visual	distinction	between	the	two	the	digit	7	may	be	written	with	a	horizontal	stroke	through	the	vertical	line.[42]	In	digital	technology,	data	is	represented	by	binary	code,	i.e.,	a	base-2	numeral	system	with	numbers	represented	by	a	sequence	of	1s
and	0s.	Digitised	data	is	represented	in	physical	devices,	such	as	computers,	as	pulses	of	electricity	through	switching	devices	such	as	transistors	or	logic	gates	where	"1"	represents	the	value	for	"on".	As	such,	the	numerical	value	of	true	is	equal	to	1	in	many	programming	languages.[43][44]	In	lambda	calculus	and	computability	theory,	natural
numbers	are	represented	by	Church	encoding	as	functions,	where	the	Church	numeral	for	1	is	represented	by	the	function	f	{\displaystyle	f}	applied	to	an	argument	x	{\displaystyle	x}	once	(1	f	x	=	f	x	{\displaystyle	fx=fx}	).[45]	In	physics,	selected	physical	constants	are	set	to	1	in	natural	unit	systems	in	order	to	simplify	the	form	of	equations;	for
example,	in	Planck	units	the	speed	of	light	equals	1.[46]	Dimensionless	quantities	are	also	known	as	'quantities	of	dimension	one'.[47]	In	quantum	mechanics,	the	normalization	condition	for	wavefunctions	requires	the	integral	of	a	wavefunction's	squared	modulus	to	be	equal	to	1.[48]	In	chemistry,	hydrogen,	the	first	element	of	the	periodic	table	and
the	most	abundant	element	in	the	known	universe,	has	an	atomic	number	of	1.	Group	1	of	the	periodic	table	consists	of	hydrogen	and	the	alkali	metals.[49]	In	philosophy,	the	number	1	is	commonly	regarded	as	a	symbol	of	unity,	often	representing	God	or	the	universe	in	monotheistic	traditions.[50]	The	Pythagoreans	considered	the	numbers	to	be
plural	and	therefore	did	not	classify	1	itself	as	a	number,	but	as	the	origin	of	all	numbers.	In	their	number	philosophy,	where	odd	numbers	were	considered	male	and	even	numbers	female,	1	was	considered	neutral	capable	of	transforming	even	numbers	to	odd	and	vice	versa	by	addition.[50]	The	Neopythagorean	philosopher	Nicomachus	of	Gerasa's
number	treatise,	as	recovered	by	Boethius	in	the	Latin	translation	Introduction	to	Arithmetic,	affirmed	that	one	is	not	a	number,	but	the	source	of	number.[51]	In	the	philosophy	of	Plotinus	(and	that	of	other	neoplatonists),	'The	One'	is	the	ultimate	reality	and	source	of	all	existence.[52]	Philo	of	Alexandria	(20	BC	–	AD	50)	regarded	the	number	one	as
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